@O -
ﬁ:l\ 4 k) CA= tre broker, rekkefolge af operationer

Navn: Dato: Score:
6 2 2 5
1 1
50+5+== 2=+4+ = =
3 3
1 1 1 1
+4+ - = -+ =X ==
30+4+ 3 11753
1 1 2 3
=8 ——== -+ =X ==
6+8-3 27575
3 1
88+11— == 11011 —==
5 5

www.snowmath.com


https://www.snowmath.com

“@O¥%

tre broker, rekkefolge af operationer

Navn:

N —
M| —
M| —
o

1 3 1
50+5+ - =" =10-
33 3

1 19 1
364+ 2= 12 gl
2 2 2
4 4
568 - = 0 g2
5 5 5

2

88+ 11— 2= 2/ —72

5 5 5

Dato: Score:

Il
(OS]
W —

12+4+ - =
3

B
TNy
Wl —
S

37

Il
I
O

110 =11 —

| —
AN
O
Dl &~

www.snowmath.com



https://www.snowmath.com

